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the y-intercept is __.

1. For each function, state the vertex of its graph

(.D :}/vzx?a\)ﬁlm(%x—fggﬁ 0

2. For each function, state the y-intercept of its graph.

3.

4.

a)y=xt—4x+35 b) y = 252 — 16

For each function, state the x-intercepts of its graph.

MName: Date:
Practise: Forms of a Quadratic Equa_tian
| For the graph of a quadratic function in the standard form
O y= a(x — k)2 + k, the vertexis ( __ __)-
For the graph of a quadratic function in the general formy = ax’ + bx + ¢,

)

y=-9(x+1}-1

¢) y=-052+2u&—235

a)y=(x+4x+7) b)y=(x—6)x—2) €) y=3(x + 2)(x —11)

The standard form for a quadratic equation is also known as the vertex form.

Explain why.

Find the vertex, y-intercept, and x-intercepts for the
function y = 2(x — 1)* — 18. Then, use these values
to sketch the graph of the function.

The equation is in form.
Therefore, the vertexis ( ___, __)-
Expand the equation to find the y-intercept:
y=2x—-_x+__)—18
y=2%—-__x+___— 18
y=22=-__x—

The y-intercept is :

Factor the general form of the equation to find the zeros:

y=2x—_x—__)
y=2x—__)Yx+__)

Therefore, the zeros are and
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6. Determine the veriex, the y-intercept, and the x-intercepts for each "“
: a}}r:n(.x#-i)ﬁ-*ﬂ h}y=—’2{;-3}“+50 ~
; vertex: ( ) vertex: ( —» —-)
: — ——
Expand to general form: - _2_
" 2 x+__—9 y = —2(x' x
o J:- - = |

y=xt— _X+t _—

The y-interceptis l é — A —/( - __|_ K

——

8 Now, factor the equannfl: __:
'* - The x-intercepts are . and __ N
) :;1 Mth
1 : ' tree branch forms a parabola.

g - gwin h:lngmg frﬂﬂ]- a . thﬂ :
1L : b Tl‘IJB m::: the leﬁ end of the swing, the equation for the 5]:::?‘" ::n un:f; + e ( f
2 Dng‘: (I_ls]ir-zzﬂ,wharehulhxand}rm::meusm An _ res

f l:'}TGive the coordinates of the vertex nE_tEE SWINg. - / Z.—- 5
1 b) How far does the swing hagg.down from the tree i —/} ,
! hrapch? 9 C m ;
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k e) State the zeros of the function.

e )
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f) How far apart are the ends of the rope?

A [ Tl ) '::;33:‘520&:15!
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Expand to general —

m:t-—-f-—",

y=—_x+_ 9

b) How far does the swing hang down from the {ree

. branch?
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,a)mﬂmﬂmﬁmcﬁminﬁ:mrﬂdfom

¢) State the zeros of the function.
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